MODEL: FUB22TL
22" CUT SIDE-DISCHARGE ROTARY MOWER
Use Grass Catcher Model: GCBAA

Grass Catcher: P/N 161018

Repl. Bag: P/N 161158

DESCRIPTION

Deck 22"

Blade - 22" Flat

Whee! 6-1/2° Plastic

Wheel 6" Plastic

Wheel! 7° Steel

Wheel 7° Plastic

Cap - Plastic

Cable - Engine/Blade Control
Handle - Upper

Handle - Lower

Handie Bracke! - Right Hand
Handie Bracke! - Left Hand
Balil - Engine/Blade Control
Washer - Blade Adapter

Clip - Training Shield

Chute Deflector Assembly
Cable Tie

Trailing Shield

Blade Adapter

Decal - C.P.S.C. Danger
Decal - Blade Waming

Decal - Starting Instructions
Locknut 3/8-16 Flange
Washer - Curved 5/16
Knob-Wing

Woodruft Key #6

Nut - 5/16-18 Hex

Self Tap Screw #10 x 5/8
Shoulder Bolt - Wheel
Shoulder Boll - Wheel 7° Stee! Only
Bolt-Blade 3/8-24 x 1-1/4 Gr. 8 *
Washer - Belleville

Bolt - Curved Head 5/16-18 x 2-1/4
Rope Stop

Rope Guide

Nut #10-24 Hx Nylon Insent
Bolt - Hex Head Self Tap 3/8-16 x 7/8
Bolt - Self Tap 1/4-20 x 5/8
Bolt #10-24 x 172

Hairpin Cotter

Nut - Keps 1/4-20
Bolt-1/4-20x 2-1/4

® When servicing this unit use only genuine General Power OEM replacement parts that are specifically designed and engineered for this particular modet,

¢ Do no! operate unit uniess all parts are properly attached and in 9ood working order.
® Parts are right or left hand as viewed from the operator’s position.
o Speciicati p

are subject to change without notice.

S/N 239827
P/L 082556
O/M 082566
E/M 183087




